5.29~30,6.5~6 m R ECHRE =

2] FF R | MR | sER REEx  |HBER Bk
E4ARKHRE | 3 = ] B | 200 |2338¢26pB| 100 | 11.54(-2.3)
y/NERE= 3 Eigasp|d 5 100 | 11.52(-2.1)| 300 35.90PB
A=) 3 7o )53 B |300H| 44.27PB 100 |12.29(+0.7)
T RHE 3 = AR 2 | 400 | 50.22PB | 800 [2.05.72PB
S IIES 3 Edaable B |110vH|1746(22p8| 100 [11.75(+0.2)PB
fif] FA e 3 JIFE B 300 36.83PB 100 |11.93(+0.0)PB
A& 3 | KEsHE| B DT 34m99
MERE 3 EFHE =S 100 | 11.79(-1.4) H)J 1m80
BoHE ]| 3 BRF =2 100 | 11.81(-05)PB HJ 1m80
RERE XA | 3 a4 % | 400 62.67 100 |[13.25(+0.3)
AR EZ 3 ¥ HmE 2z | 100vH|1744¢09PB| 4 0 OH| 69.80PB
IINPRFTA 3 =% %z | 400 | 61.69PB 100 |[19.03(+1.3)
IS F 3 BFHR | % | 400H | 74.83PB 100 | 13.82(-0.9)
BXOREF] 2 3 B 4z | 1o00YH|1991¢-09PB| 4 00H| 85.08
= AN KRR 2 B 2 | 200 |2373¢c05pB| 100 | 11.80(-1.0)
FINFIIR 2 FFH— 53 200 |2232¢-03)PB| 300 35.40PB
INE RS 2 M= 2] 400 | 52.54PB 200 | 24.25(-12)PB
NHEIEH 2 BFH— 5 400 55.45PB 200 | 24.23(-2.1)PB
INBIZER 2 | KEsHE| B 100 DNS
AatgEZ 2 Kok Z | 400 | 74.62PB 200 |30.11(+1.4)
& LRk 2 BFH— £8 400 65.48 400H 14.26PB
MER #1757 1 =4 Z 400 64.09PB 800 2.30.40
REBwH>H | 1 = Z | 100 |13.88(+0.6) L) | 4m25(+1.2)
Bh)ll 2= 1 E2n, %z | 400 | 68.16PB 100 |[13.63(+1.8)
rEE BE| 1 )1 S Zz | 1oovH|2202¢-1.0P8| 100 |14.14(+0.4)PB
B2 EX 1 Edaapld 3 400 56.04PB 100 12.18(-0.3)PB
NI 1 BEH | 2 | 200 |25.02(-0.9)| 100 | 1232(-05)PB




PE K 1 i 2 | 200 |26.08(-2.9)] 100 | 12.46(-0.8)

HR o5 1 idanbld % | 1500 | 5.30.11 800 2.39.10

Akl SE| 1 idanbld % | 1500 | 5.34.72 800 2.38.34

g2 EE 1 JBHT 5 100 DNS SP 15m29PB
N ERE] L mDIE Z SP 7Tm02PB DT 18m42PB
AHE EP 1 =H10 Z 1500 5.30.12 800 2.37.69

"R BEEl 1 ¥FHmE 8 200 |2293+09)PB| 100 |1152(-1.2)PB
KR RIS 1 ZII 5 1500 DNS 3000 11.21.54
Zk #BE 1 EFHE 5 1500 | 4.38.46PB| 3000 10.07.62
alE AT 1 EFHE 3 1500 | 4.49.14PB}| 3000 10.41.23
WKL B A 2 =H £28 1500 5.05.02 3000 11.14.05
ZE BT ER 2 BYH— Z 1500 5.25.00 800 2.33.93

FHEEZN 2 izl 5 1500 4.34.31 3000 9.50.83

BEHFREA 2 =H10 B 1500 4.27.21 3000 9.41.34




